
§·¤æ§ü / Unit-I

1. (a) ÌéÜÙæˆ×·¤ çßçÏ âð ãUÜ ·¤èçÁ° Ñ

x – y = 2, 2x – 3y = 1

Solve by comparison method :

x – y = 2, 2x – 3y = 1
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(b) ©UÙ Îô â¢BØæ¥ô´ ·¤ô ™ææÌ ·¤èçÁ° çÁÙ·¤æ

Øô» {y ÌÍæ ¥‹ÌÚU v{ ãñUÐ

Find the two numbers whose sum is 64
and whose difference is 16.

¥Íßæ / OR

ÚðU¹èØ Âý·ý¤×Ù @Øæ ãñU? ÚðU¹èØ Âý·ý¤×Ù â×SØæ ·¤è

Âý×é¹ çßàæðáÌæ°¢ ÕÌæ§°Ð

What is Linear programming ? Give various
characteristics of linear programming
problem.

§·¤æ§ü / Unit-II

2. (a) ØçÎ 

1 0 2
0 2 3
1 2 3

A
 
   
  

 ÌÍæ 
3 1 1
1 2 3
0 1 2

B
 
   
  

ãUô, Ìô 3A + 6B ·¤æ ×æÙ ÕÌæ§°Ð

If 
1 0 2
0 2 3
1 2 3

A
 
   
  

 and 
3 1 1
1 2 3
0 1 2

B
 
   
  

,

then find the value of 3A + 6B.

( 2 )
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( 3 )

(b) âæÚUç‡æ·¤ ·¤æ ×æÙ ™ææÌ ·¤èçÁ° Ñ

24 3 3
56 7 17
73 9 22

Evaluate the determinant :

24 3 3
56 7 17
73 9 22

¥Íßæ / OR

(a) Üƒæé»‡æ·¤ ·¤è âãUæØÌæ âð x ·¤æ ×æÙ ÕÌæ§°
ÁãUæ¡

1 5 1 2
0 036

x   


Find the value of x with the help of
logarithm where

1 5 1 2
0 036

x   


(b) ØçÎ log 5 = 06990 ãUô, Ìô log 125  ÌÍæ
log 500 ·ð¤ ×æÙ ÕÌæ§°Ð

If log 5 = 06990, then find the value of
log 125 and log 500.
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( 4 )

§·¤æ§ü / Unit-III

3. (a) { ßáü ×ð´ z' ßæçáü·¤ µØæÁ ·¤è ÎÚU âð G vz®
âæÏæÚU‡æ µØæÁ ¥çÁüÌ ·¤ÚUÙð ·ð¤ çÜ° ×êÜÏÙ
ÌÍæ ç×ŸæÏÙ ÕÌæ§°Ð

Find the principal and amount to earn
G 150 simple interest in 6 years at the
rate of 5% per annum.

(b) ×õçÜ·¤ ·ð¤ Á‹× ·ð¤ â×Ø ¹æÌð ×ð´ ©Uâ·ð¤
çÂÌæ Ùð G z,®®® Á×æ ç·¤°, çÁâ ÂÚU v®'
ÂýçÌßáü ·¤è ÎÚU âð ¿·ý¤ßëçh µØæÁ ç×ÜÌæ ãñUÐ
×õçÜ·¤ ·ð¤ v}ßð´ Á‹×çÎÙ ÂÚU ©Uâ·ð¤ ¹æÌð ×ð´
ç·¤ÌÙè ÏÙÚUæàæè ãUô»è?

When Moulik is born G 5,000 is
deposited by his father in an account that
pays interest at the rate of 10% p.a.
compound interest. What amount will
there be to his credit on Moulik’s 18th
birthday ?

¥Íßæ / OR

z' ¿·ý¤ßëçh µØæÁ ·¤è ÎÚU âð | ßáôZ ·ð¤ çÜ°
G z®® ·¤è ßæçáü·¤è ·¤æ ç×ŸæÏÙ, ßÌü×æÙ ×êËØ °ß¢
µØæÁ ™ææÌ ·¤èçÁ°Ð

Find the amount, present value and interest
of an annuity of G 500 for 8 years, the rate
of compound interest is 5% p.a.

5
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§·¤æ§ü / Unit-IV

4. (a) Îô â¢BØæ¥ô´ ·¤æ ¥ÙéÂæÌ zÑ} ãñUÐ ØçÎ ÂýˆØð·¤
×ð´ ~ ÁôÇ¸U çÎØæ Áæ° Ìô ¥ÙéÂæÌ }Ñvv ãUôÌæ
ãñUÐ â¢BØæ°¢ ÕÌæ§°Ð

Two number are in the ratio 5:8. If 9 be
added to each they are in the ratio 8:11.
Find the numbers.

(b) °·¤ ·¤æÚU {® ç·¤Üô×èÅUÚU ÂýçÌ ƒæ‡ÅðU ·¤è ¿æÜ
âð ¿Ü·¤ÚU ç·¤âè ÎêÚUè ·¤ô y ƒæ‡ÅðU ×ð´ ÌØ
·¤ÚUÌè ãñUÐ ©Uâè ÎêÚUè ·¤ô }® ç·¤Üô×èÅUÚU ÂýçÌ
ƒæ‡ÅðU ·¤è ¿æÜ âð ·¤æÚU ¿Üæ·¤ÚU ç·¤ÌÙð â×Ø
×ð´ ÌØ ç·¤Øæ Áæ â·¤Ìæ ãñU?

A car covers a distance in 4 hours at the
rate of 60 kilometre an hour. In what
time this much distance can be covered
with a speed of 80 kilometre per hour ?

¥Íßæ / OR

(a) ç·¤âè ÃØç@Ì ·¤æ ÂãUÜð Âæ¡¿ ×ãUèÙô´ ·¤æ ¥õâÌ
×æçâ·¤ ÃØØ G vw® ¥õÚU ¥»Üð y ×ãUèÙô´ ·¤æ
G }® ãñUÐ ØçÎ §Ù Ùõ ×ãUèÙô´ ·¤è ¥ßçÏ ·ð¤
ÎõÚUæÙ ©UâÙð G wz Õ¿æ° ãUô´, Ìô ©Uâ·¤è
×æçâ·¤ ¥æØ ÕÌæ§°Ð

7

8

7
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The average monthly expenditure of a
person for the first five months is G 120
and for the next four months is G 80. If
he has saved G 25 during the period of
nine months, find out his monthly
income.

(b) ç·¤âè ·¤ÿææ ×ð´ ç·¤âè çÎÙ vz' ÜÇ¸U·ð¤
¥ÙéÂçSÍÌ Íð ÌÍæ xy ©UÂçSÍÌ ÍðÐ ·¤ÿææ ×ð´
ÜÇ¸U·¤ô´ ·¤è â¢BØæ ÕÌæ§°Ð

On a certain day 15% of the boys were
absent and 34 were present. Find the
number of boys enrolled in that class.

§·¤æ§ü / Unit-V

5. (a) °·¤ Îé·¤æÙÎæÚU Ùð z® ßSÌé¥ô´ ·ð¤ ÂæâüÜ ·ð¤
çÜ° G y~x ¥Îæ ç·¤° çÁâ ÂÚU ©Uâð vz'
¥ÂãUæÚU çÎØæ »Øæ ÍæÐ °·¤ ßSÌé ·¤æ âê¿è
×êËØ ÕÌæ§°Ð

A shopkeeper paid G 493 for a parcel of
50 articles. On which he had been given
a discount of 15%. Find the list price of
an article.

(b) çÎ¹æ§° ç·¤ ·ý¤Ø Øæ Üæ»Ì ×êËØ ÂÚU wz'
ÜæÖ ·¤æ ¥Íü çß·ý¤Ø ×êËØ ÂÚU w®' ÜæÖ
ãUôÌæ ãñUÐ
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Show that the profit of 25% on purchase
price or cost price means 20% profit on
selling price.

¥Íßæ / OR

ç×SÅUÚU ÎèÂ·¤ ·¤ô Ù·¤Î çÕ·ý¤è ÂÚU z' ¥õÚU ©UÏæÚU
çÕ·ý¤è ÂÚU y' ·¤×èàæÙ çÎØæ ÁæÌæ ãñUÐ ØçÎ
G z®,®®® ·¤è ·é¤Ü çÕ·ý¤è ÂÚU ©Uâð G w,y®® çÎ°
ÁæÌð ãñ´ U, Ìô Ù·¤Î °ß¢ ©UÏæÚU çÕ·ý¤è ·¤è ÚUæçàæ ™ææÌ
·¤èçÁ°Ð

Mr. Deepak is paid commission of 5% on
cash sales and 4% on credit sales. If on a
total sales of G 50,000 he is paid G 2,400,
find the amount of cash and credit sales.

———
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